- | Division with Dividends Up to 60

Name:

1]

Mackenzie gives out 32 slices
of cake evenly between 2
friends. How many slices

does each friend get?

slices

|£J
Choose the best answer

Caleb decides to get rid of his old video game
cartridges. He has 18 in all. If he divides them
between 2 friends evenly, how many video
game cartridges does each friend get?

12 8

9 7

Sarah owns 75 marbles. She
divides those marbles and
distributes them evenly among 3
friends. How many marbles does
each friend have?

marbles per friend

@ Me CC.5.40

TeachMe, Inc. ©2025 All rights reserved.

Page 1 0of4



- | Division with Dividends Up to 60

Name:

@
Choose the best answer

Kevin purchases a box of 63 doughnuts.
He divides those doughnuts amongst 3
friends evenly. How many doughnuts
does each friend get?

16 21

23 17

@
Andrew is dividing up his 36
toys evenly up into 3 boxes.

How many toys are in each
box?

toys

|ﬁJ
Choose the best answer

The library is getting rid of 60 old books.
3 people come and take all the books,
dividing them equally. How many
books does each person get?

24 15

20 23

@ Me CC.5.40

TeachMe, Inc. ©2025 All rights reserved.

Page 2 of 4



- | Division with Dividends Up to 60

Name:

1#7]

Abigail owns 24 marbles. She
divides those marbles and
distributes them evenly among 2
friends. How many marbles does
each friend have?

marbles per friend

|4

Cameron bakes a cake which he slices
up into 51 pieces. If Cameron divides
them among 3 plates to give to 3
neighbours, how many pieces of cake
does each neighbour get?

pieces of cake per neighbour

|ﬁJ
Choose the best answer

Mackenzie cuts 30 slices of watermelon
and divided them evenly among 3
platters. How many watermelon slices
are on each platter?

8 10

11 13
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Division with Dividends Up to 60

Name:

#10

Choose the best answer

Jackson hands out 28 slices of deli
meat among 2 customers evenly. How
many slices of deli meat does each
customer get?

13 18

11 14

#11

Choose the best answer

Alexa decides to get rid of her old video game
cartridges. She has 48 in all. If she divides
them between 2 friends evenly, how many

video game cartridges does each friend get?

22 28

32 24

#12

Choose the best answer

Emily bakes a cake which she slicesup into 9

pieces. If Emily divides them among 3 plates

to give to 3 neighbours, how many pieces of
cake does each neighbour get?
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= | Division with Dividends Up to 60 Answer Key
Question Answer
#1 16
#2 9
#3 25
#4 21
#5 12
#6 20
#7 12
#8 17
#9 10
#10 14
#11 24
#12 3
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